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QUESTION 1

When ECC800 detects that a device is connected, a communication interruption alarm will generate. The possible
reasons are (). (Choose all apply) 

A. The power supply is abnormal 

B. The cable connection is loose 

C. The cable connection is in poor contact 

D. The communication module device is faulty. 

Correct Answer: ABCD 

 

 

QUESTION 2

For NetCol5000-A, if a meter detect that no current passes through the infrared humidifier, it indicates that the lamp is
damage. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

The report functions of NetEco has a variety of presentation forms, including visualization of bar charts, pie charts,
graphs, etc. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

The humidifier that used in NetCol8000-A is (). 

A. Electrode humidifier 

B. Infrared humidifier 

C. Wet film humidifier 
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D. High-pressure micro-mist humidifier 

Correct Answer: B 

 

QUESTION 5

The main reason for the energy-saving effect of the closed cold/hot passage is () (Choose all apply) 

A. Isolating hot and cold air, avoiding the confusion of hot and cold air and improving the utilization of cold air. 

B. It can increase the air supply temperature of the air conditioner, thus reducing the energy consumption of the air
conditioner. 

C. The closed heat channel can increase the return air temperature and improve the cooling efficiency. 

D. Reduce the humidification power consumption by increasing the supply air temperature and reducing the power
consumption of humidification. 

Correct Answer: ABCD 
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